R:\Clients\HMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014)\FL-18506.1-4.dwg, FL-16437.2

A L]
_ N .ﬁ.%};”o
5? = -§;§ 5?551 S P 4 'é;” .
N “Wz 2
=FAF T2 Sy e |begd
o . o . Fali o
2501 Northchase Pkwy SE zen “ E' 95; g%
Wilmington, NC 28405 2, o LogS ztan
~—— 40" O.A. FRAME WIDTH ——= “, I* PR 23s0
s ZJng
\ & oR5*
) |o % O X 2 <-
r n \ |£ .Ecn ZaQ o -
O I o
HH8-PCD" STEEL DOOR N LR
2w
INSWING / OUTSWING PEIII
3 O .
"IMPACT" 1 TN
o o
& o o
GENERAL NOTES T F &=
T N

. This product has been evaluated and is in compliance with the 5th Edition (2014) Florida Building Z Z - Q_Q:(':

Code (FBC) structural requirements including the "High Velocity Hurricane Zone" (HVHZ). '(_:5 g g %’ L
. . ¥ o X |5 5S

. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base L o t‘i o o

material shall be beyond wall dressing or stucco. : = X s Bl ae
¥ o2 (= T2 e
— Y v <C

. When used in the "HVHZ" this product complies with Section 1626 of the Florida Building Code and 5 5‘ 'g e ﬁfﬁ

does not require an impact resistant covering. o 2 | F e
o o © : %

. When used in areas outside of the "HVHZ" requiring wind borne debris protection this product ® B
complies with Section 1609.1.2 of the FBC and does not require an impact resistant covering. This 050 f is
product meets missile level "D" and includes Wind Zone 4 as defined in ASTM E1996 and Section ® ©
1609.1.2.2 of the FBC.

. Site conditions that deviate from the details of this drawing require further engineering analysis by a
licensed engineer or registered architect. %)

©)

. This product does not meet the water infiltration requirements for the "HVHZ" and shall be installed ‘é’
only in non-habitable areas or at habitable locations protected by an overhang or canopy such %
that the angle between the edge of canopy or overhang to sill is less than 45 degrees.

. All steel shall be protected as specified in Section 2222.6 of the FBC.

TABLE OF CONTENTS L
<C
SHEET# | DESCRIPTION ([
] Typical elevations, design pressures, & general notes MAX. DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF) ,
2 Door panel details OVERALL INSWING OUTSWING S
3 Horizontal and vertical cross sections DIMENSION | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE oae: 8/31/15
4 Horizontal and vertical cross sections B . SCALE:  N.T.S
5 [Anchoring defails 40.0'x88.0" | +66.0 | -76.0 | +66.0 | -66.0 —
6 Components . BY:
7 Bill of materials and components CHk. BY:  LFS
DRAWING NO.:
FL=18506.2

SHEET 1 oF 7/

© 2015 R.W. BUILDING CONSULTANTS INC.



R:\Clients\HMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014)\FL-18506.1-4.dwg, 2.2

INTERIOR Nt =/ 1
STEEL SKIN S Q& % 3
o> &N Rz o
35.75" MAX. _ SSy 3 TN
PANEL WIDTH [ % = 5% ¢ x E BEID
- H > 5 - L
g X L SO
| | %, S ST
%, et QS S58
//,"I T \\\‘\\\ 30"
1y g Qwe
LOCK & O ¥
g EXTERIOR FOAM CORE REINFORCEMENT Nl ® ©xXZS
& e BOX U Bty Z8,°
e Wlgdge § .suw
9 £ 20£8
1 /"2 "\ HORIZONTAL CROSS SECTION (82) % g
Z:D WDoo;’ pgne| STEEL SKIN CLOSED g g§ S
o 3 Su @<
= > 8 5
Z | (o~ 425" | :
o . 6.91 -
x 7 |
L-o wy
= T =
i SEE 9 s 2 L
2 HARDWARE S B o =
2 & |
CHART | N = S |3 2
f s 8
N T 98
2 | BOX CHANNEL TOP REINFORCEMENT > . 5 x S
A&0 Galv. Steel o a —
EXTERIOR INTERIOR g <
>_
m
] I
@ OPAQUE STEEL DOOR PANEL 3.53"
@ LOCK BOX
STEEL DOOR SKIN: 18 GA. A60 GALV. (min. 0.047" THK. , Fy = 47,400 psi min.)
CORE MATERIAL: EPS Foam (Polystyrene - 1.0 PCF Min. Density) 2
(@]
%)
S
Lad
o
HARDWARE CHART
—~— 166" =]  |=—1.66"—] ]
R 3 R 166" —— i
MANUFACTURER MODEL SWING S = . < r 1 S
| 3 t -
LOCK: X-75-F < ' |1z
Design Hardware ’ OUTSWING ONLY n
g DEADBOLT: D2-$ _tﬁ ¢ = oATE: 8/31/15
LOCK: 1500 CLOSED ? OPEN S st NTS
Falcon OUTSWING ONLY e
DEADBOLT: D131 TOP_CHANNEL £2 ) BOTTOM CHANNEL owe. 8v:  JK
260 Galv. Steel Ab0 Galv. Steel CHK. BY: LFS
waciR | LOCK: 3500 Series | INSWING OR /"1 "\ VERTICAL CROSS SECTION SRAWING -
DEADBOLT: 3200 Series OUTSWING \y Door panel FL—18506.2
SHEET 2 oOF _/

© 2015 R.W. BUILDING BONSULTANTS ING.



RAClients\HMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014)\FL-18506.1-4.dwg, 3.2

NOTES:
1. Spot weld anchor bracket to frame:

2 welds per flange (4 total per bracket).

D

.
w
N

4

cPep

1-1/2" MIN.
EMB. {TYP.)

Cc

SEENOTE 1 {TYP.)

INTERIOR

1/

/"1 "\ HORIZONTAL CROSS SECTION

\y Outswing shown (Inswing similar)

EXTERIOR

\\\\/\ ............ "
WY, L R S RO
. . s SSy 3 54 = 9
< P = I 3 :<=_) 9]
4, . = 05% TR (RESZ L,
. sa LT Z8 ¢ |B&SS; 0
» Z o RCNEAEE:
—_— ”/, >..'-. .-". 0\\\ ;S g % "?
/, ........ c \\\ ] g ‘q g
@/( c ,,,"In 1 |\\\\\\\\ § o‘g g
o omn Zz
o :ﬁ O Xz <
NN LR
l Wig g st
N e "% @moah
® HPE:
< £ §2
=5) 3 EXTERIOR INTERIOR - e<
. T EXTERIOR , INTERJOR 8 2o
20 I 3 —
@// @/, .
S
=W
4 7 68
>\
(3 VERTICAL CROSS SECTION ZT £ | 35
3 /Shownw/2'Head . e x |5 o
Outswing shown (Inswing similar) ¥ g L 13 Ea
Tz = (& 28
. NS
PR ; 5 ol 5
< = 5 o
) = S e
N E o a
Z\/ B % >
> 7 m
| T
I /4 "\ VERTICAL CROSS SECTION
. > w Outswing sill
N o 2
J )M INTERIOR , EXTERIOR 5
. TERER / SE )
S
P8}
> @/, oz
o 1-1/2" MIN, o
& EMB. (TYP.) Za
- SE ®
4 —i e ’_L"_J
- . T3 2
7 » N Ly o < ¢ v d
9 v'g a Z
\Y a «
5 . OATE: 8/31/15
@ B : . \ Yo e SCALE. N.T.S.
< @ DWG. BY: JK
H CHK. BY:  LFS
/ 2\ HORIZONTAL CROSS SECTION /5 "\ VERTICAL CROSS SECTION DRAWING.NO-:
w Outswing shown {Inswing similar) W Inswing sill FL-18506.2
SHEET 3 ofF 7

/L

@ 2015 R.W. BUILDING DONSULTANTS iINGC,



/,
....... .41/ /,,, A
INTERIOR &z 8
68 351
B E: <=
. z-— N
E&i83.to
MORTAR REMOVED fHSE g
FORCLARTY. % > | P 2 2gn
-------- > E o
..-P@ \\\ 5' g : g
@ A0 XIS
o oMz
1 & O« o(
o :"_6: [&/] EZ 5
INTERIOR £ty ZDoo
— a Q c W
N 8% So9%4
~= t ' @aonl
e L .
€ <]
@ 2 5z §
; [' £ s
: n RS
4 v .
g v NI
EXTERIOR ) '”’9 =
e N2 3
MORTAR REMOVED Eo
)
FOR CLARITY. ./w @ g Lﬁ%
@ EXTERIOR o s 2
G |8 2
« |3 E3
@ 20
(2" HORIZONTAL CROSS SECTION T |48
WOufswing shown {Inswing similar} g & )
Q b=
o o
o <
o ja

INTERIOR . . ,
2 < ‘ A ;
< 4 T .4 4 4 4 4 >
. v < a m

4 s < < <
" 2 ) f : 44 4
‘ . MORTAR REMOVED — T
FOR CLARITY.
\ Cc
2]
(2) z
G 2
v
Led
] i 2
INTERIOR MORTAR REMOVED
FOR CLARITY.
\ 20
K .
l_“
S
N ®\
- 5
| =z
oatE: 8/31/15
L EXTERIOR INTERIOR scae:  N.T.S.
, EXTERIOR /j oK
EXTERIOR @ CHK. BY: LFS
(3" VERTICAL CROSS SECTION
MORTAR REMOVED / 1"\ HORIZONTAL CROSS SECTION @ \_4_/ Qutswing shown [Inswing similar) DRA;TG_ :2 506.2
FOR CLARITY. W Outswing shown (inswing similar) @ Shown w/ 4" Head :

SHEET 4 oF 7

RAClients\HMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014)\FL-18506.1-4.dwg, 4.2

© 2015 R.W. BUILDING CONSULTANTS INC.



RAClients\HMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014)\FL-18506.1-4.dwg, 5.2

13.75" —f—= -
:‘7 31.937 -~>|<——- 31.937" ——4
B

AL
P

HINGE JAMB

CONCRETE ANCHOR NOTES:

j i
MASONRY et — ——4—
OPENING JAMBS )
(TYP.) 2
o
TYP. SILL o
B= 1
S % o
- T - e \'\ T
5" (TYP.) —= L— '—-—»‘—10" O.C. (TYP)
FRAME ANCHORING
Shown w/ 4"Head (2" Head similar)
Masonry Construction

Concrete Anchors

1. Concretfe screw locations at the corners may be adjusted to maintain a minimum 1" edge distance to
mortar joints. If concrete screw locations noted as "MAX. O.C." must be adjusted fo maintain the minimum
edge distance to mortar joints, additional concrete screws may be required to ensure the maximum on
center dimension is not exceeded.

2. Concrete anchor table:

ANCHOR| ANCHOR |ANCHOR| = | MIN.EDGE|  MIN.
ANCHOR | ANCHOR |ANCHOR | ANUFACTURER + o MIN.
~ TYPE LOCATION| sz .~ = | DISTANCE | EMBEDMENT
JAMBS 3/8"  |LDT TAPCON® (ITW BUILDEX) > 12
C&"ﬁ‘g? TAPCON® thETW BUILDEX)
. | ULTRACON® (ELCO) ) )
SILL 1/4 ) )
SCREW | CRETE-FLEX® (ELCO) 21/ 1-1/4
TAPPER+® (POWERS)
CONCRETE o
SLEEVE JAMBS y&  |DYNABOLT SLEEVE ANCHOR - .
ANGHOR (ITW REDHEAD)

f

&

TYP. SILL

[t 4" — et ] 4" !

| et 16" P I ]6"___._ 8"

ADDITIONAL ANCHOR
LOCATIONS AS SHOWN
{6 TOTAL EACH JAMB])

5" (TYP.) —=—

A P I
oo L 1«”—»1—10"0.0 (TYP.)

FRAME ANCHORING

Shown w/ 4" Head (2" Head similar)
Masonry Construction

Masonry Anchors

O

STRIKE DETAIL

FIRST ANCHOR
IS @ 1ST MORTAR
JOINT FROM BOTIOM

\\\ 7
\\\\\ ‘k I///,
N corennn A%,
L i N Y
QX % 8
~ SN p - 2
Sy 8 |88 .38
55% 3 x Eg%;éll
ELL e &i03; "0
2o SRR
25 >, Q&\S a0
// “tecqans®” \\ w O ‘D, 1]
|| ‘o, * P‘l\o\\\\ 3.0
UL ZOwd
» [0 3N 5] Z
Q LIFL o xE<
— — No T QO XZ%
2.2 NV |EEy £8,°
el BE \|V |15 24
) a u:'fr’ Bodb
FERIS
3 2w @%
B 8 Ao
[ w
S =
~ =C
g &
3
REE
s X
[ o ©
s g T
T lgs
= [a'd
1 1] § o
a e
[v'4 <€
o [s N}
>
STRIKE JAMB -
w
prd
o
%
o
o
//
77
o L
<1 [ Lud
@\ ] §§ ':(
o | 10 -
o
21 <
/ oaTE: 8/31/15
17 ScAle:  N.T.S.
DWG. BY: JK
HINGE DETAIL CHK. BY: LFS
DRAWING NO.:
FL—185086.2

SHEET 5 oF 7

© 2015 R.W. BUILDING CONSULTANTS INC.



RAClients\HMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014\FL-18506.1-4.dwg, 6.2

A ]
1.25' X ey,
075" I~ 1.36" = S T
12 - ' ’ S& NS
* l 0 ]3!1 ] 0.06" ““““’”‘_ i 5.75 : \Q." ". %‘” [e3
: } _ — Sy 3 gt = B
= XL 3 3] —<‘:p )
293 2 & 03,0
] B 11 g S AN -
5 fey Yy 575 - 2% SPIE 88,
3 S o T B AR S B S 3 1
0 “ pROL 53 4o
™~ ] 47 x w D .2,
i —l~— 0.055" g 5§R%°2
J S O 1 ’ E\‘ =N I.>D“ G N N
- e - 0.055" l N Q‘ g 323
= t et <
f 2 $ ¥ [2£3 3 2w
O ~tr g N 2 O £ m
[ A O o W ~t [+ eI AT N T
Ry fo f 2 52
o - 3 .
[ o K -~ 1937 | | 1.937" —— 1.937" —— 1937 — B 58 &
J@ j 25 | HOLLOW METAL FRAME
HOLLOW METAL FRAME 7" (Jamb)
26 )4 (Head)
S O H
] ([ E—
™ wy
= % 2
~ . DUST BOX 014" — e e & =
=3 bl i
e o 1.25" * 543" | i
L m =
= n O
] i t T 2 °
1 e e . <
- © © 0.175" [ S S
a =
O 5 s
0.25" —= o ol= = & =
0.65" S .
= \) -
22" DOOR HINGE REINFORCEMENT ‘ 3
13.75" ®
1.75" - 0
=z
o 5
. %
= In =
i\] 5) 2 S, .-O— ™~ = o
& © S B o 0 e
/ /
4 X X PR . o :
w)
U/ U/ L/ L/ N 7
[
// ‘
@]
i =
R o O oatE: 8/31/15
2 3" 3" 3" / O SCAE: N.T.S.
O O DWG. BY: JK
NOTCH FOR DUST BOXES " - i S LFS
"T" ANCHOR 28) FRAME HINGE REINFORCEMENT WIRE ANCHOR FL—18506.2
. 0.056" Thick Steel —
SHEET 6 OF 7

© 2015 R.W. BUILDING CONSULTANTS INC,



RAClients\MMF Express PERMANENT\FL -\C - Drawings\FL XXXX (2014\FL-18506.1-4.dwg, 7.2

BILL OF MATERIALS
ITEM DESCRIPTION MATERIAL

C [ 1/4" MAX. SHIM SPACE -

D |1/4"X2-3/4"ELCO OR ITW CONCRETE SCREW STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK (GROUT FILLED) CONFORMING TO ASTM C90

H |1/4"X1-3/4"PFH CONCRETE SCREW (SEE CONCRETE ANCHOR TABLE) STEEL

J | 3/8"X 5" PFH DYNABOLT SLEEVE ANCHOR (SEE CONCRETE ANCHOR TABLE) STEEL

M | 3/8"X 5" LDT TAPCON CONCRETE SCREW (SEE CONCRETE ANCHOR TABLE) STEEL

1 STEEL DOOR PANEL -

8 | DUSTBOX STEEL

9 | ANCHOR BRACKET STEEL

10 | #12-24 X 1/2" PFH MACHINE SCREW STEEL

11 | #8 x 3/4" COMBINATION WOOD/MACHINE SCREW STEEL

16 | ANSI LATCH STRIKE STEEL

17 | DEADBOLT STRIKE STEEL

19 | DEADBOLT STRIKE REINFORCEMENT STEEL

20 | WEATHERSTRIP (PEMKO 303A) NEOPRENE
21 [ 4-1/2"X4-1/2" X 0.125" HINGE STEEL
22 | DOOR HINGE REINFORCEMENT STEEL
25 | HOLLOW METAL FRAME (2" JAMB) - 16GA (0.055" THK) STEEL
26 | HOLLOW METAL FRAME (4" OR 2" HEAD) - 16GA (0.055" THK) STEEL
28 | FRAME HINGE REINFORCEMENT STEEL
30 | MASONRY 'T' ANCHOR STEEL

35 | WIRE ANCHOR STEEL
40 | OUTSWING THRESHOLD (PEMKO 2001_T) ALUMINUM
41 | INSWING THRESHOLD (HAGER #520) ALUMINUM

7

—— 0.058"

!

@ ANCHOR BRACKET

[~—0.5"

_ﬂ_migf”—*§>>ﬁ_T

@ OUTSWING THRESHOLD

@ INSWING THRESHOLD

o leos

. )
B
Bg 2 8
H%'&‘%”
Bai§z,v5
..\:(n -
SoSE oo
_.'@\Zoc;,q
. S £
) J oo
0\\\ 5>450
A D ..
(1} \ Z0Q0m0
5 88.%
o‘.
'o% 0Xz<.
® Z 970
5 Ea 500
a £0 | c W
Ay 50924
L T¢ madan
w
25
E 6%
5 T,
g gy
& Xa
il
o | =2
it W
£ <5
= 5 =4
2 s
L & OO
: |92
<| I8
s
s o)
(]
S &
© <
a 0.

NO| DATE

REVISIONS

DATE: 8/31/15

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-18506.2

SHEET / ©OF 7/

© 2015 R.W. BUILDING CONSULTANTS INC.



